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P - I (1+1+1) G / 20 (N) SUP

2020

GEOGRAPHY (General)
Paper Code : II -A & B

(Climatology & Biogeography)
[New Syllabus]

(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : II - A

Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.
Each question carries 1 mark.

1. The solar energy received at the earth surface is called —

(A) Insolation

(B) Temperature

(C) Energy budget

(D) Sunshine

1Ð þ™,!íî#þ™,öìÛþ þ™!“þ“þ ö¢ïîûŸ!_«öì„þ îöìœ éôôôé

(A) „þyëÅ„þ!îû ö¢ïîû!î!„þîû’

(B) þvþz¡Œ“þy

(C) ö¢ïîû îyöì‹Ýþ

(D) ¢)ëÅ!„þîû’

2. When Earth is farthest from the sun is called —

(A) Aphelion

(B) Perihelion

(C) Equinox

(D) None of these

2Ð ¢)ëÅ öíöì„þ þ™,!íî#îû ”)îûî“Åþ# xîßþiy˜öì„þ îœy £ëû éôôôé

(A) xþ™¢)îû

(B) þx %̃¢)îû

(C) !î¡ì%î

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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3. The lines joining the places of equal pressure at sea level are called —

(A) Isobars

(B) Isohyets

(C) Isotherms

(D) None of these

3Ð ¢›%oþ™,öìÛþ xî!ßþi“þ ¢›‰þyþ™ ë%_« ßþiy˜öì„þ ¢‚öìëy†„þyîû# öîû…yöì„þ îœy £ëû éôôôé

(A) ¢›‰þyþ™ öîû…y

(B) þ¢›î¡ìÅ’ öîû…y

(C) ¢öì›y¡Œ öîû…y

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

4. Which wind is known as ‘Doctor Wind’ —

(A) Harmattan

(B) Bora

(C) Foehn

(D) Chinook

4Ð vþy_«yîû îyëû% ˜yöì› þ™!îû!‰þ“þ ö„þy˜ îyëû% éôôôé

(A) £yîû›yRy˜

(B) þöîyîûy

(C) šþ˜

(D) !‰þ %̃„þ
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5. Winds blow from —

(A) High pressure to low pressure belt

(B) Low pressure to high pressure belt

(C) Poles to equator

(D) None of these

5Ð îyëû% ²Ìîy!£“þ £ëû éôôôé

(A) vþzF‰þ‰þyþ™ öíöì„þ !˜Á¬‰þyþ™ xMþéœ

(B) þ!˜Á¬‰þyþ™ öíöì„þ vþzF‰þ‰þyþ™ xMþéœ

(C) ö›îû& öíöì„þ !˜îûÇþöìîû…yîû !”öì„þ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

6. Koppen’s scheme was based on —

(A) Climatic condition

(B) Vegetation Zones

(C) Rainfall and Temperature

(D) None of these

6Ð ö„þyöìþ™˜ ‹œîyëû% ö×!’!î¦þyöì†îû !¦þ!_ !Šéœ éôôôé

(A) ‹œîyëû%†“þ xîßþiy

(B) þßþºy¦þy!î„þ vþz!q”

(C) î,!ÜTþ™y“þ ç “þyþ™›yey

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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7. What percentage of solar radiation is absorbed by the atmosphere —

(A) 12 %

(B) 14 %

(C) 16 %

(D) 18 %

7Ð îyëû%›uþœ myîûy ö¢ïîû !î!„þîûöì’îû öŸy¡ìöì’îû Ÿ“þ„þîûy £yîû éôôôé

(A) 12%

(B) þ14%

(C) 16%

(D) 18%

8. The upper limit of Stratosphere is called —

(A) Tropopause

(B) Stratopause

(C) Exonosphere

(D) None of these

8Ð ÞÝþÄyöìÝþy!ßþ³þëûyöìîûîû vþzF‰þ ¢#›yöì„þ îœy £ëû éôôôé

(A) Ýþöìþ™yþ™‹

(B) þÞÝþÄyöìÝþyþ™‹

(C) ~öì:yöì̃ yþ™‹

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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9. Monsoons are —

(A) Westernly wind

(B) Seasonal wind

(C) Permanent wind

(D) Temporary wind

9Ð ö›ï¢%›# îyëû% éôôôé

(A) þ™!Øþ›y îyëû%

(B) þ}“%þ!¦þ!_„þ îyëû%

(C) ßþiyëû# îyëû%

(D) xßþiyëû# îyëû%

10. Soil conservation means —

(A) Prevention of spread of Desert

(B) To check soil erosion from wind and rains

(C) To soil erosion by afforestation

(D) All of these

10Ð ›,!_„þy ¢‚îûÇþöì’îû xíÅ £œ éôôôé

(A) ›îû&¦)þ!›îû ²Ì¢yîûöìîûy•

(B) þîyëû% ç î,!ÜTþ™y“þ öíöì„þ Çþëûöìîûy•

(C) î˜¢,‹˜ myîûy ›,!_„þyÇþëû öîûy•

(D) ¢î=öìœy£z
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11. Which of the following plant grows in Desert areas?

(A) Halophytes

(B) Xerophytes

(C) Hydrophytes

(D) None of these

11Ð !˜öìÁ¬îû ö„þy˜!Ýþ ›îû& xMþéöìœ ‹§Ãyëû éôôôé

(A) £Äyöìœyšþy£zÝþ

(B) þö£öìîûyšþy£zÝþ

(C) £y£zöìvÈþyšþy£zÝþ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

12. Which gas is known as greenhouse gas?

(A) Nitrogen

(B) Oxygen

(C) Carbon dioxide

(D) Hydrogen

12Ð !˜öìÁ¬îû ö„þy˜!Ýþ @ùÌ#˜£yvþz¢ †Äy¢ éôôôé

(A) ˜y£zöìÝþÆyöì‹˜

(B) x!:öì‹˜

(C) „þyîÅ̃  vþy£z x:y£zvþ

(D) £y£zöìvÈþyöì‹˜
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13. The Tropical zone is extended between —

(A) 23.5° North and South

(B) 33.5° North and South

(C) 66.5° North and South

(D) None of these

13Ð e«yhsþ#ëû xMþéöìœîû !îhßþyîû éôôôé

(A) 23.5° vþz_îû ç ”!Çþ’ xÇþy‚Ÿ

(B) þ33.5° vþz_îû ç ”!Çþ’ xÇþy‚Ÿ

(C) 66.5° vþz_îû ç ”!Çþ’ xÇþy‚Ÿ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

14. The standard air pressure at the sea level is —

(A) 998 MB

(B) 1002 MB

(C) 1013.25 MB

(D) None of these

14Ð ¢›%oþ™,öìÛþ ²Ì›y’ îyëû% ‰þyþ™ £œ éôôôé

(A) 998 !›!œîyîû

(B) þ1002 !›!œîyîû

(C) 1013.25 !›!œîyîû

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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15. Coriolis force is caused by —

(A) Due to volcanic eruption

(B) Rotation of the earth

(C) Rotation of Moon

(D) None of these

15Ð ö„þy!îûç!œ¢ Ÿ!_«îû „þyîû’ éôôôé

(A) x@À%Äêþ™y“þ

(B) þ™,!íî#îû xyî“Åþ˜

(C) ‰¤þyöì”îû xyî“Åþ˜

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

——————
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GEOGRAPHY (General)
Paper Code : II - B

(Climatology & Biogeography)
[New Syllabus]

(Supplementary)

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - A

Answer any two questions.  10×2=20

1. What is Climate? Discuss the controlling factors of Climate. What is pressure
belt? 2+6+2=10

2. What is greenhouse gas? Discuss the impact of greenhouse gas. 2+8=10

3. Describe the favourable conditions for plant growth. What are the characteristics
of Xerophytes? 5+5=10

4. What are local winds? Describe in brief the pressure belts of the world.
3+7=10

Section - B

Answer any three questions.  10×2=20

5. What are the characteristics of Mangroves? 5

6. What are the favourable ways of soil conservation? 5

7. Discuss about the forms of precipitation. 5
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8. Write a short note on Koppen’s classification of world climate. 5

9. What are the factors of soil formation? 5

10. Briefly describe about atmospheric layers. 5

îDy %̃îy”
!î¦þy† éôé „þ

× =

1Ð ‹œîyëû% !„þÚ ‹œîyëû%îû !˜ëûsþf„þ=öìœyîû !îîîû’ ”yçÐ ‰þyþ™ îœëû !„þÚ 2+6+2=10

2Ð @ùÌ#˜ £yvþz¢ †Äy¢ !„þÚ @ùÌ#˜ £yvþz¢ †Äyöì¢îû ²Ì„þyîû ¢›)öì£îû î’Å̃ y ”yçÐ 2+8=10

3Ð vþz!q” ‹§Ãyöì̃ yîû x %̃„)þœ þ™!îûöìîöìŸîû î’Å̃ y ”yçÐ ö‹öìîûyšþy£zÝþ vþz!qöì”îû ÷î!ŸÜTÄ !„þ !„þÚ
5+5=10

4Ð ßþiy˜#ëû îyëû% !„þÚ þ™,!íî#îû îyëû%‰þyþ™ îœöìëûîû ¢‚!Çþ® î’Å̃ y ”yçÐ 3+7=10

!î¦þy† éôé …

× =

5Ð ›Äy˜öì@ùÌy¦þ vþz!qöì”îû ÷î!ŸÜTÄ !„þ !„þÚ 5

6Ð ›,!_„þy ¢‚îûÇþöì’îû x %̃„)þœ þ™kþ!“þ !„þ !„þÚ 5

7Ð x•ƒöìÇþþ™öì’îû !î!¦þ§¬ îû*þ™=öìœy !îîîû’ ”yçÐ 5

8Ð ö„þyöìþ™˜ „,þ“þ þ™,!íî#îû ‹œîyëû% ö×!’!î¦þyöì†îû ¢‚!Çþ® î’Å̃ y ”yçÐ 5

9Ð ›,!_„þy ¢,!ÜTîû !î!¦þ§¬ !˜ëûsþf„þ=öìœy !„þ !„þÚ 5

10Ð îyëû%›uþöìœîû hßþîû=öìœyîû ¢‚!Çþ® !îîîû’ ”yçÐ 5

—————


